G3 Steadycam Installation Instructions
G3=AFIFHREIRIAH

Applicable to the firmware V1.25 and above version &REFV1.25K% LA EhRAE( 4

L

fZaE Product Installation Diagram

ES!
BT Gopro3tEE , EiEE,
Attention!

Please install the Gopro3 cameral
firstly ,then supply power.

M2x 22 FH48ET MSx16iRFLFIT48ET

M2x22 Knurled thumb Knurled thumb screw

screw

BUTERE
Hinge Mount

—]

M5 x 16;R1EFITIRET

M5x16 Knurled thumb
screw

= ©

M2 x 6iTTSKIRET
M2x6 Sunk Screw

(—

M2x 22iRIEFI7I8ET

M2x22 Knurled thumb
screw

HIFRIRS | EEMERAREEH,

Open power switch cap, Put batteries in holder.

Power Switch

Eithx3

Batteryx3

FRFHEI12008%
Steadycam can be adjusted
to 120°

EOMEEE Interface and buttons

up ®
Down @

TRASERE

4 pin gimbal connection
wire

ERA i SERIREO
Motor control and power
interface

Down

UpP

QY




G3 Steadycam Installation Instructions
G3=AFFHREIRPH

Applicable to the firmware V1.25 and above version J&FFV1.25KLL ERRAE1SF

Q

BAILAEIgHRE ( UP,DOWN)RIE

B,

You can adjust the pitch angle by U7 M@ Horizon

the button (UP.DOWR) RSP BRI B 45"

The angel between the roll motor and the vertical of the
ground should be less than 45°

“UP” #1" DOWN" F"MZHERHE T3 , aERENEEIHERTLTES | EANEREER.
XAEIHRHT B R SHERA | BESEE  BART "UP” 1" DOWN" B MERE3T , A8isR
SR, IR RS,

Press “UP” and "DOWN" buttons at the same time for 3 second, the indicator light at the
back of roll motor will bright red light. This will enter the roll adjustment mode. You can adjust the
roll angle by press “UP” or "DOWN" button (The adjustable range : -8° to + 8°).After finish the
adjustment ,you can press “UP” and “DOWN" buttons at the same time for 3 second, the red

Push Up indicator light will turn off then exit the roll adjustment mode.

THERNMMEREEHTRIBMMIEN: (1)=EEKTERELERE. (2 )NRKREAER,  (3)HERETNEI20E,

MR ENT: SExEHIENEERAL  ARTHREREFX , SFx688. AN10 WERETIE , IR,

The gyroscope need to make initialization when in following several situation: (1.)When the gimbal activate the level angle have a deviation ;
(2.)The gimbal has not been used for a long time;  (3.)There is a change in environmental temperature of over 20 degrees;

Process of gyro reset : Firstly placed the gimbal on a table and keep static ,then power on the gimbal and wait for the gimbal activate. After about 10second the
gimbal begin working , at this time the gyroscope initialization is complete.

SHEsH:
- g e =g\ Tt =N e
Feege n 2 5
TiFEBE 7.0V 12.0V 17.0V 25~4S LIPO
HRIEN N AC 100v-240V 50/60Hz BULESRESE | £001° +0,04°
H o o M BRAEA150mA = = - - -
84 DC4.2V == 600mAh EESIRGEE | £0.1 +0.02 £0.5
AT BEIEKKREGSZE. FEHUS BRI RS 0.8A
AR REBAIE NG, FRHS SRR 600s FIHLITE600s/ZEFMELE T
o |l o || wrEmEE o
WMETEMERLEE, BFEIEN
PRSSHCERR. R AIE 330us
iRy
Charger WmfTESEE |- 90° 0° + 35°
Input: AC 100V-240V 50/60Hz RRABEARMAE |- 45° 0° +45°
Max 150mA S MR o
Output: DC 4.2V — 600mAh sl 10°%/s
WARNING: =B 1289 FiREE
To prevent it from fire or moisture. hs ifi P
To reduce the risk of electronic shock. Tec pecification:
Do not remove cover (or back plate). TECH SPEC Min-worki Standard worki _ ;
If any parts need repair, consult an n-working voltna er working Malx working Remark
authorized service dealer. voltage 9 voltage
Working Voltage | 7.0v 12.0V 17.0v 2S~4S LIPO
AIFERRRI Static attitude £0.01° +0.04°
RIS 16340 tracking accuracy
28 1800mA Motlgn attitude 0.1 +0.2° +0.5°
tracking accuracy
Rech ble Batt Overload 0.8A
echargeable Battery protection
Type:16340 Overload 600s After overloaded 600s,
. protection time Gimbal will stop working
Capacity:1800mA automatically.
) Max-torque 330us
response time
ESEXEEAHA CRREEARE: | |Contolledpitch [-00° o - 45°
. angle accuracy
www.feiyu—-tech.com
Controlled Roll - 45° 0° + 45°
Angle Accuracy
Plgase visit the official we_bS|te of _ Pitching Angle 10775
Feiyu-tech to get related information : control rate
www.feiyu-tech.com .
Weight 128g Handle weight




